H & 0l & AHS B Ml A

20243 =0llah LB S AIEH

S£A: SAIZEHID
M oA T AITHA

Rl DAY JlgtEd (Gt H2)
SA - ZE - B2A(30) - HRA - B of v e HIDE2
AEHI 1t 19,178,542 16,889,600 2,288,942
= 8,922,000
== 3,565,486
Al 6,701,056
ZOIH T AITHA 19,124,736 16,832,336 2,292,400
= 8,922,000
< 3,565,486
Al 6,647,250
SAITHA D8t Ed 18,177,206 16,662,290 2,514,916
= 8,922,000
== 3,545,486
Al 5,709,720
XN ZAINY IR 4,500 5,000 A500
201 2= 4,500 5,000 A500
01 AtR2t2lt] 4,500 5,000 A500
OFXEH TAIMY XN 4,500
CANYRARE =2Y 4,320 4,800 A480
201 Ler23| 4,320 4,800 A480
01 At2teltl 4,320 4,800 A480
O ANYRARE 28 & H&+E 4,320
CAITHS 25et AFE XIS 22,700 22,700
203 =4l 2,700 2,700
03 A=A PR FZ| 2,700 2,700
O=It3EAMY 22 ¥ =HI2s X 2,700
308 AHXIHMSO0IA 20,000 20,000
13 SI12S0He 4 A AS A 20,000 20,000
OZ AN 25t AFEXIZ 20,000
=21 €3 SFHE MY 800,000 0 800,000
401 Al HIZ 2018 800,000 800,000
01 Al&H| 800,000 800,000
O 4| 800,000
Mgl AtELel 22 2,000 30,000 /28,000
201 ZBt=3hl 2,000 10,000 /8,000
02 S3=gHl 2,000 5,000 23,000
O™AME JIEFEA HIIRS 2,000
H=AMA TATHY FE A 1,399,500 2,313,000 913,500
201 2= 7,000 7,000 0
01 AtR2t2lt] 5,000 5,000 0
OXFANA SAITHA =LA 5,000
2 s5=4g4l 2,000 2,000 0
OXF=ANA TAITHAY FLAS 2,000
401 AIEHIX R0 1,392,500 2,076,000 683,500




2A:
PSR
ool

S AIZEHI
oA T AITHA
SAITHAY DIgtEd

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,389,000 2,072,500 683,500
OXFANA TAITHA FLAS 1,389,000
03 A2 THYI 3,500 3,500 0
OXFANA TAITHA =LA 3,500
HFA ZHFINE TEAL(HEAY) 2,750,000 500,000 2,250,000
== 2,000,000
Al 750,000
401 A2 HIRL R 0HbI 2,750,000 500,000 2,250,000
< 2,000,000
Al 750,000
01 Al&H| 2,750,000 500,000 2,250,000
OdFY SEFIE gAML 2,750,000
= 2,000,000
Al 750,000
CANY ANES2 28 & 2 108,000 80,000 28,000
201 er=2 3| 68,000 55,000 13,000
01 AtR2t2|HI 18,000 15,000 3,000
OFANY HES2 28 & ordae|iia 18,000
2 Ss2g4l 50,000 40,000 10,000
OZAINY HES2 S8R U= 50,000
401 AIEHIZL S0 40,000 25,000 15,000
01 Al&H| 40,000 25,000 15,000
OZANY HESZ2H FX2 40,000
CAIHEXZHE =2 722,000 664,323 57,677
307 el2to| & 722,000 664,323 57,677
05 212+ =S 722,000 664,323 57,677
OZAIMAEXZHEH 24 722,000
[ Jelbals] 485,000
=2l 177,000
@ AH2H| 60,000
CATHY OOl & NIJEME =29 50,000 47,667 2,333
= 15,000
Al 35,000
307 @120l & 50,000 47,667 2,333
s 15,000
Al 35,000
02 LB AANHEE 50,000 47,667 2,333
OSAITHA Ob2tCIDl & XA 29 50,000
[ 15,000
Al 35,000
S0IEEH 22z 29 9,600 10,000 2400
201 er2&| 3,600 4,000 2400
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A ZAIEHI D
M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,800
=S 300
01 At2tltl 2,100 3,000 2900
OQIFEE ZTANY =AY 2,100
= 1,800
S 300
307 @20l & 460,000 462,000 22,000
[ 120,000
= 20,000
Al 320,000
02 2IZHBYAIHE & 200,000 200,000 0
OQI=EE ZANY =EAY 200,000
= 120,000
& 20,000
Al 60,000
05 212t S 260,000 262,000 /2,000
OQI=EE ZANY =EA 260,000
401 Al HIZ S OHbI 5,738,900 2,065,500 3,683,400
[ 4,916,200
= 822,700
01 Al&HI 5,737,500 2,063,500 3,684,000
OQI=EHE ZAINA =S ALY 5,737,500
= 4,915,000
S 822,500
03 Al 2 0HHI 1,400 2,000 A600
OQISEE ZAINY =AY 1,400
= 1,200
< 200
BIE &AL 343,000 220,000 123,000
== 102,900
Al 240,100
401 AIEHIZ SR HYI 343,000 220,000 123,000
< 102,900
Al 240,100
01 Al&H| 343,000 220,000 123,000
OEIEIHIAI 343,000
= 102,900
Al 240,100
2d O ¥ & 48 S0 &4 501,000 500,000 1,000
201 er=23y| 1,000 0 1,000
01 AtR2t2|HI 1,000 0 1,000
OHERRS BHsE S 1,000
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S£A: SAIZEHID
M oA T AITHA

SRl AT JlgtEl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 6,000 10,000 24,000
14 IIEt2 83 6,000 10,000 24,000
OEAZE A2HAL 28 S 6,000
FHAXA HE(ZAN (=8 ME0S) 830,086 0 830,086
[ 630,000
= 81,086
Al 119,000
201 Ler23| 2,800 0 2,800
= 2,100
& 180
Al 520
01 At2t2ltl 2,800 0 2,800
O4H=d MS0E gAY 2,800
s 2,100
== 180
Al 520
307 glztol & 100,000 0 100,000
05 2ItRIE =2 100,000 0 100,000
O EAAHE 12AHl & 2| 100,000
401 Al HIZ S 0HbI 727,286 0 727,286
= 627,900
< 80,906
Al 18,480
01 Al&H| 724,486 0 724,486
o8 MS0tE gAY 724,486
= 625,800
< 80,726
Al 17,960
03 Al 20HHI 2,800 0 2,800
O4H==8 MS0tE gAY 2,800
= 2,100
< 180
Al 520
FHAXA HE(ZAN(HEZ 2T MEDHS) 285,000 0 285,000
= 200,000
== 25,000
Al 60,000
201 2= 3,600 0 3,600
= 2,400
=S 250
Al 950
01 At 2|l 3,000 0 3,000
OHAZZXN T MES0E =&AY 3,000




2A:

X XH -
o=

S AIZEHI
oA T AITHA

Rl DAY JlgtEd (Gt H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
= 2,000
=S 210
Al 790
02 35244l 600 0 600
OAEYZX T MSOE 28A 600
= 400
=S 40
Al 160
307 212+01& 40,000 40,000
05 2ItRIE = 40,000 40,000
O EXAHE 12HHl S 2| 40,000
401 Al HIZL 201 241,400 0 241,400
= 197,600
& 24,750
Al 19,050
01 Al&HI 238,700 0 238,700
OAE 2T MSOte 28A 238,700
s 195,800
s 24,540
Al 18,360
03 A& CHYI 2,700 0 2,700
ORI T MS0te 28A 2,700
s 1,800
== 210
Al 690
e eSS 947,530 1,170,046 N222,516
= 10,000
Al 937,530
Satfel, 2% K22 (HEAY) 257,600 294,000 236,400
201 er23| 54,600 41,000 13,600
01 At2teltl 21,600 24,000 A2,400
Satiel, 2 AdeE 7A2c 21,600
02 S3=gHl 33,000 17,000 16,000
OE3atel, 2 Ald= 7X2 33,000
206 M=l 3,000 3,000
01 MHZHI 3,000 3,000
OSztel, Z& AE=s RA2e 3,000
401 AIEHIKL 20 200,000 250,000 /50,000
01 Al&H| 200,000 250,000 /50,000
Satiel, 2 AEE A2 200,000
HitsZ 243 Mg 79,930 76,046 3,884
201 eer23y| 17,000 13,116 3,884




2N SAIEHI
S HOIA T AITHAY
Clel: CAIRIIXA (o

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 17,000 13,116 3,884
OH0OtsZ 243 A 17,000
307 elzto| & 62,930 62,930
02 2B YAIHE A 62,930 62,930
02024 HF=Al SE2HHAEIE 8,000
Ox0tsZ & HAE 6,000
OHOISZE &9 'tz 8,000
O&0I=CH HOtsZ =22t el 13,930
OX0t=2 'GiveUsed SO '2024 5,000
02024 =2LNHOLS ' 23HHE! 11,000
OO0i=ee HOISZ ML= 5012 5,000
OHOIE 2HE "S(0o)== (ream)22 0OHS I
K+ 6,000
FUHOE Sael SAAR(T SHoilAH) 10,000 0 10,000
= 10,000
401 AlEHIZ SO 10,000 0 10,000
S 10,000
01 A28l 10,000 0 10,000
O N =A2 =28 2+ 10,000
== 10,000
dE= NestZd 2N E EXNA 250,000 0 250,000
401 AIZHIX S0HH 250,000 0 250,000
01 AlZH| 250,000 0 250,000
OKNSHZE ZZAIE XA 250,000
OlE5 =XHE Y ACTEIAHMEALY) 350,000 0 350,000
401 A2 HIZL R 0HbI 350,000 0 350,000
01 A&l 350,000 0 350,000
Otz =X & ATXZLESA 350,000
A2 BJHI(ZAIZEHIL) 53,806 57,264 A3,458
Jl22HI(SAIEEI 53,806 57,264 A3,458
JI2ZHI(SAIZEHID) 53,806 57,264 A3,458
201 ger=3| 31,126 34,584 A3,458
01 AtR2te|H] 31,126 34,584 A3,458
OZEt=EH| 17,820
O= gl 13,306
202 04l 18,480 18,480
01 2LHoIH 18,480 18,480
OJ|=2HRFT0Y| 18,480
203 HR=AH] 4,200 4,200
M A2 LIFLI 4,200 4,200
OFANEHYE =AY 350,000 * 12 4,200




